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HE= TS/ SIS ZRITENE ETHEASERR
1 13040 94. 47 =
2 01441 94. 37 =
3 530 3ssskkkskokkAk 2935 93. 62 =
4 42018 93. 56 =
5 02089 93. 55 =
6 47018 93. 09 =
7 01334 92. 67 <
8 11036 92. 44 s
9 01674 92. 33 =
10 532 sksksokoksikokokk 4.3 16 91.98 £
11 38080 91.94 P
12 42030 91.91 =
13 530 1 ssskokskokkkok 1 521 91. 80 =
14 29043 91. 80 =
15 530 1 soksokokoksokokk ] 235 91.72 £
16 12053 91. 60 =
17 25051 91.58 =
18 08044 91.53 =
19 01173 91. 48 =
20 38033 91. 38 =
21 37019 91.19 =
22 5304xsskkskokkAk 206 | 91. 00 =




HE#= TS/ SIS ZHRIENE ERHENSE®ER
23 34016 90. 91 P
24 47068 90. 91 =
25 57122 90. 59 =
26 72054 90. 49 =
27 02098 90. 43 =
28 73022 90. 12 =
29 01501 89. 74 =
30 36025 83. 48 =
31 51012 83. 09 7
32 07078 83. 04 7
33 530 Iksksoskkskkkk37 14 82. 96 &
34 01494 82. 94 7
35 01397 82. 92 %
36 5303kskkkkkkk(03] 1 82. 87 &
37 34025 82. 82 7
38 410 3%kkkkAkAk %4532 82. 60 &
39 5323k kkkkx (0829 82.57 &
40 411 2sskskskokskokookk 1015 82. 49 o
41 58012 82. 02 #
42 41006 81. 95 7
43 532 I ksskskskkkkk%3925 81. 36 &
44 32044 81. 09 #
45 49030 80. 09 7
46 45115 79. 63 &




